wk11 alg 1st.notebook March 22, 2019

ftem 21 i ,
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The graph of the exponential function fix) = 4(0.5)" + 2 is shown. Factor each completely. |
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Algebra 1~ Unit 38 Day 1 Solving Quadratic Equations by Factoring,
Zero Product Property
b = In other words, when two.

Ya 5= 0, then eh ssions are being
wieln
equal nzemn ifa-5 = 0, then "a” must be equal to_€2 &

Ex:1F3+ b = 0, then "b" mu

A fow more examples g’\o‘b(“’. nN-%-0
W 4T
I6Ge 1 3G 5) = 0, then either x + 3 = 0,0R X-5 o
1f(x = 1)(x~ 6) = 0, then eiherx — 6 = 0, OR X-1 -0 n=2
I 22+ 7)(x — 4) = O, then sither 2x +7 = 0,0R. -

dl

o e DefitaNon ix=-2x-15 3)( o b oo 2o N
Original Problem 4+ DE-9=0 (V’(XV"‘q’) 0 (AT (m.glm-}%):(),.& 9
=50 [
-3

oo | (490 X5 =0 Vil= o‘%v-»z

Step 1 Set each expr

-3 -3 +5 +5 :} m=2 mz=-5

nswer - There should be Xz 5 Y,r"‘x V= :} 6) 0 < Tn=0
a?xtg:ox —3X-Z=o~ ViV -J2:20 3 Ansaz O
T g § ran Vg(v-3) =0 ‘-) 3 nin+N=0

VoSt oF THETIME # X34, _ n=o0 |n+¥=0
e T N (VAQ-3)= 0 “3

¢ vigD v -9 -
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Step 1 Factor (x+3nm [ V=-2

Step 2 - Set each expression equal to zero

vV

x+¥- 0l _x1y

X+ =
4o A
Answer - There should be 2 v 2 “\L‘I.
)

Step 3 - Solve each equation

C O

Sove cachequaton by factorng, At 1 Name
8 (o= Tx-7)-0 9 (r+ 7= 1)=0 TOTD Solve by Factoring

L~ Solve cach equation by factorig,

0. B =) 1)-0 2 con=o

10) Wiy +7)=0 1) (n+3Mn+7)=0

S Iy 13 5904200

se

2 3) 27+ 10x+16=0 4) S+ 11k+6=0

14) P iapia=0 15) p?d4p-32=0

16) - 8=0 17) Tt 4100 =820

Chioss ten

18) 7% - 126-4=0 19) 2% 4 15y 25 =0
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Algebra 1 Name,

TOTD Solve by Factoring

Solve each equation by factoring.

ttarchr 192019 Fuesday—
1 (s xr7) =0 2 pio6pe5=0 March 21, 2019 Thursday
Item 18

Constructed-Response

Shaun recycles botties and cans. He sany e racycles and 5 cents for each
can he recycles. After recycling a bag receipt that states he eamed
$12.75 and recycled a total of 210 bottles and cans. 16 determine the number of botties and the
number of cans he recycled, Shaun wites the system of equations below. Gyr g oY) ?

svbskihvi
» elimincivo

Part A What does the x represent in terms of the situation? Write your answer in the space
provided.

3 F-a9=0 4) 207 - 130-7=0

Part B Shaun graphs lines to represent the equations in his system. What are the coordinates of the
point where the two lines intersect? Write your answer in the space provided. M—ﬁ
7 -
MA*& of course write your answer to Part A & Part B! IID ( X + \{ - 2 lO)
pattes f OX‘;’S‘{ =235 -
9 pats (19, 165 ) m&'N 10y=~a100 -

15

Algebra 1~ Unit 38 Day 2 Solving Quadratic Equations by Square Roots
MGSE9-12 ARFL4: I can solve 2 quadatic equation with one variable.

T~ _~
o take the. a 1 X +4=29 2. -7=47 3. X+1p=16
* The goalis to get the variable squared by itself! et -U
? ‘ﬁ 3 L
What doon ik shold do? ONE sap: 17 "= =E54

Algebra 1 ~ Unit 38 Day 3 Name

* Asquare root is written with the radical symbol...

xS

’ 2
Solve the following TWO Step cquations: X S foN r

B 5] T4y 4T Bl Py P
TR Ay - L9 20
5 j ‘Z‘ﬁl &Xl ’+‘i"3 x, o 7
-3t3
},_,,- b L SRR X
X=2.0 #e30: 3 xa L= 34292 109
Solveth olowing THREE siep equatons: 2 3 Xx=3-94--729
7 —IV"' '1‘6.’ 7. (x+3f +6=18 8 (2x+6) 824 9. X' +21=5 h
405 V=9 —\'—'\z '5/-5 /’7;%%@@ ((’—uwg‘gm 1
B - g etk = X<l
Solve the following MULTI step equations: .S %;F) = _0:-05‘. © -
&,(x+3)[}$_ o G+ if= - N =i | 57‘—_ +
BTN B X=-~3+1A 6 Sé
)(-)-g: 17 x:-‘5-|<-a T(_Xf_/-l)i—j’q 33 RS ftas %
-2 3 X+¥= +'1:“ 2 . Sx-ay =9 "‘Q‘z’%if:—'b:d 37
o= S ST Y
113(x+3)"K ﬂ!. 23424 1-5.8
e ] 2
3 5%=3-27-5
(x:-’n I
X+

X=|0f§9J
Xz 3"&

Algebra2 Name Agetra2 Nam
TOTD Solving Quadratics by Factoring/Square Roots TOTD Solving Quadratics by Factoring/Square Roots
Solve cach equation by factoring or taking square roots. Solve cach equation by factoring or taking square roots.

DB eap=0 2 b= 5h-6=0 Dm=3me2=0 2 w4 sn=0

3 pi-1=0 4107 =17 +3=0 3w -16=0 4 2ve6=0
5 =4 6 58212 5) =16 6) 36 =16

7 365 +7=71 8) (x-4f=25

78 -2-30 § (e a8
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Algebra 1 ~ Unit 3B Day 3 i
MCC9-12AREL4b: I can solve by completing the square.
6

March 22, 2019, Friday! % Certain be factored into Factor
MO 202 T WeTTESEy a3 “Smares ¢
(x+3Xx+3) lx-sxx's) fod (xrux»w
item 14 o bt s risoma (550" (xeb*
item 15 o Inthe lloing et sqar vl e erfa{ %u”‘mwssmg

Selected-Response Selected-Response ° o
blank - we szyrhmthls ..nmba?—ﬁﬁm 7——\
. oA Tha tabie defies & quadratic function.
Which value is ar(Fational number? s 49 IR 1

x v (s =
(VA 4407 = geaszmiann, X =y B U %) 4
h 1 porfact square rinomials
-4 v o | =
3 B.1zy8 = 4 iateye Ya Y2 ERECTETCY ewi_ Y f(’:)z@rhr 25 5)_2'
e 22z (1.2 retion = : Hidinih 23 4
5 gy Yoo e o chenespotwoon - one x4 o el o by conpein e X +8x-20=0
S Tinbene tzo 120
D. V3-V3s U‘ | 3 A. undefined Step 1: Get all variables on one side and all numbers
Slope Formula without variables on the other side. =
1 _ X+ ?(\l .= A0
2: Find the number that completes the square on
e =2 e of e seaion i ot e o oo X2+ 8x+ —%%10 +
sides.
o. s

—FM%»HA—

Step3: Factor the perfect square trinomial on the left

et oprion. Simpdy e i o e ( X+ L{ )1': 3 (ﬂ
Sep: Take the suare oot of ot sides. W = _;m
NEZ =50
‘Step 6: CHECK YOUR ANSWERSH! X -4y

=%, -0

Step 5: Set up the twa solution possibilities and solve.

2 Iso‘odre varnabiéfom
COrs
F Crocte b‘f\OM(nD
Letstry! ¥ squaed lb
Feep 2o loalarat st -3 .

Solve each equation by completing the square. 4 Iso \w}?_ x.

1) r‘+uy»45=5 2 mi-xsm,u MCC9-12AREL#D
’“s 2. 2 *L"l Solving Quadratic Equations by Completing the S
3 < - Iving Quadratic Equations by Completing the Square
f “‘" = M- lem = L i sl e o xre o ane .

the equation.

e TRV

SIS

2 -2 47 - - 8
(= 3 £T109 m= *l’{l L6 100-54=0 2. 181770
Xt 1§y e
( x+ 9+
L X=5¢-38 or S+ Kii %
3 X 20x273=0 s
3
byrade!
*
6 X -lex-75=8
Algebra> Name. Agetra2 Name
TOTD Solving Quadratics (Factoring/Sq. RootCompleting the Square) TOTD Solving Quadratics (Factoring/Sq. Root/Completing the Square)
Salve cach cquation by fctoring. Solve cach equation by factoring.
D=0 2160 1) #—dn-21-0 3¢9m0
3 X +oxe14-0 & S’ =23m-10-0 3 -0 927+ 15r-8-0
Solve cach cquation by taking squsre rots. Solve cach equation by taking square roots.
596 =9 & 4% 3ma0n 5 -6 =-216 552387

Solve each equation by completing the square. Solve each equation by completing the square.

7 ¥ -dxs3o0 ) £ 212643520 78 16n-36-0 §) 0 16n460-0
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Algebra 1~ Day 4

Solving by the Quadratic Formula Notes
‘The solutions of any quadratic equation (ax? + bx + ¢ = 0) can be found by evaluating the quadratic
formula:

P CF (b)? — 4(@)(9)

2(a)
Examples: Use the quadratic formula to solve for x
1227 —10x-5=0

2.9 42=3x

March 22, 2019

March 21, 2019, Thursday

1. What is the y-intercept of the graph of hix) = 2' - 47

2. What is the range of the graph of flx) = -3(x - 4)7

Algebra1~Day4

Solving by the Quadratic Formula Notes
‘The solutions of any quadratic equation (ax? + bx + ¢ = 0) can be found by evaluating the quadratic
rmula

Examples: Use
1.2¢% — 100

290242 =3¢

—() £V ®)? - 4@
2(a)

the quadratic formula to solve for x
-0

9) 207 =5 +3a=-10-8a" +3a

13) 264 1k-138 20

14) Gt e Tn-20- -7
A 6,115 a7,
B) No solution. B) l6.-15]
©) 12231, 7731 ©) 19.809,-9.5899]
D) (18471, 741 D) 12167
15) 48 =25 16) 67 Tx 64 =4
A

A) 2833, 4

) (2.5, -2.5) B) {12458, -5.458]
©) 1066705 ©) 11198, 2365}
D) 1125.-1.25] D) 2.-65

10) "+ 8m =91 +2m

as=ou 12) 127 0p - 44=dp s 8p7

Algebra 1 ~U3B Day 4
Solving by the Quadrati

ic Formula

Solve each equation with the quadratic formula.
1) 40 -9=0 2) 6% +8p-30=0

3) 6b+ Th-68=0

457+ 11=0
5) P edro69=-9 6 207~ 58=-8
8) 4b?= 144

Algebra 1 Name
TOTD Solving Quadratic Equations (any method)
Salve each equation

our way (by factoring
formulz). SHOW ALL OF YOUR WORK!

0t e2p-143=0

re root, completing the square, or quadratic

2 4 -9-0

3) 4= Tx-15=0 4 atea-21=0
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Algebra | Name,

TOTD solvmg Quadratic Eqnmmne (any melhnd)
. or quadratic

ay (by
Tormuin, SHOW ALL OF YOUR WORK':

1 2p-143=0 2) 4r'-9-0

4 4 +3v-27=0

March 22, 2019

March 22, 2019, Friday

Item 13
Constructed Response.

Of the data? Write your answer in the space provided.
iswer in the space

PartB  Explain why the median should be used instead of the mean. Write your a
provided.

EOC released...close
reading...so many details!

G.O. then quiz...

X*+5x +6=0

SOLVING A
EQUATION

AR
WY,
QUADRAT\O\ |

— MOST —
GOMMON

(,“mﬂ X4+5x +0= O
(x4 x4 2)=0

x+3=0 Xx+2=0
x=-3 X=-2

SOLVING A
QUADRATIC
EQU/\T\ON

AETING
ﬂc,;%Ms@uAKé

egx+1l=0
xZ+gx = "1l
w2 rgy v 1o =—{]+16
CFRCTOR:

(x+4)*=5

SoUATONS

Vo= 15
with = %NS
x="4*1E NO RERL
SOLUTIONS
ONEFEhL COMPLEX)
2 @EAL v (Two COMPIEX.

(QUADRATIC
FORMULA

A3 Y =40
e
=6 v= 2iNio
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